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When we observe a return of Ry, on the market, what do we expect the return on a
portfolio with a beta of B to be? The capital asset pricing model (CAPM) relates the
expected return on a portfolio to the expected return on the market. But it can also be
used to relate the expected return on a portfolio to the actual return on the market:

E (Rp) =Rr + B (Rv - Re)
where Rg is the risk-free rate and Rp is the return on the portfolio. Please answer the
following questions:
(- ) What is the difference between systematic (Ry) and nonsystematic risk? Which
risk can be diversified? Which is more important to an equity investor? [6 4 ]

(= ) The expected return on the market portfolio is 12% and the risk-free rate is 6%.
What is the expected return on an investment with a beta of (1) 0.2 ;(2) 0.5;(3) 1.4 ?

(9~ 1]

( = ) What is mean by beta, how describes the return obtained from taking

systematic risk? [5 4 ]

(=) ™3 ﬁﬁjﬁﬁ 7. eryf]u__m r ;aw} A< # | (netinterestincome) ? [5 4 ]
#1.2019 # # K ABC i » hF A | 7 % L M RS
7 A (Assets) f 7 2272 i@ (Liabilities and Net Worth)
7. £ (Cash) 5 | 5 Zc(Deposits) 88
A ZEiz EHFE (LR
(Marketable Securities) 10 | (Subordinated Long-Term Debt) 6
*z 2 (Loans) 80 # 7 ~(Equity Capital)
7 2_F A (Fixed Assets) 5
& 2*(Total) 100 | & 3*+(Total) 100
# 2.2019 # & & ABC 427 f§ % «df £ % HEr-pg%~
%41 4 12 ¥ (Net Interest Income) 3.00
2z 30 4f % (Loan Losses) (0.80)
2241 & 4z Z (Non-Interest Income) 0.90
241 4 ¥ * (Non-Interest Expense) (2.50)
fian § ¥ % 4| (Pre-Tax Operating Income) 0.60

g% ]
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A U.S.-based MNC, has receivables of EUR 12,000 in 90 days. Spot EURUSD equals
1.43. The firm’s economist forecast that the EURUSD could end the period with a value of
either 1.40 (probability of 60%) or 1.50 (40%). The firm is concerned about the resulting
currency risk. It has also assessed some hedging alternatives.1. Forward contracts of
90-day EURUSD are traded at 1.45. 2. The 90-day interest rates (annual/360) in the
United States and Europe are 5% and 7%, respectively. 3. Put Options with 90-day
expiration and a strike price of USD 1.45 are available for a premium of USD 0.02. Please
answer the following questions:

(- ) Calculate the expected value and standard deviation of the forward hedging
strategy. [4 ~ ]

(= ) Calculate the expected value and standard deviation of the money market
hedging strategy. [4 %~ ]

( = ) Calculate the expected value and standard deviation of the put option hedging
strategy. [4 ~ ]

(= ) Recommend the firm the best approach. [3 %~ ]
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Suppose you have the observations 0,0,4,4 and 0,4,0,4 on x and y, respectively, from
the CLRM(Classical Linear Regression Model) y=a+px +¢
(- ) Find the equation of the OLS estimating line. [3 %~ ]
(= ) Find the equation of the OLS estimating line that incorporates the constraint
that e =0. [3 4]

( = ) Calculate the R%s (coefficient of determination) associated with both these

estimating lines, using R =1-2_ . [6 4]

(= ) What is the lesson here? [3 4]
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